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All questions are compulsory.
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ii. The number of marks carried by a question/part is indicated against it.
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iii.  Question nos. 1 1020 is of 10 marks each.
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. Word limit for each question is 200.
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V. Questions are printed in English & Hindi languages. In case of any ambiguity in
translation of any question, English version shall be treated as final.
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(a) Construct a cumulative frequency h
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| 20. How would you illustrate diagrammatically the following kinds of numerical data? Give

: \H_&'ief' reasons for your choice. (2x5)
(a) Average yield per acre of rice in India for each of the last 10 years.

(b) The harvest prices of the main crops in the year 2020.
(c) The number of deaths in road accidents in a city for each month of the last

two years,

(d) The proportion of time spent in a college on each of the subjects taught,

() Number of children per family in a large town.
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